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THEOREM 7
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We're going to squeeze (sandwich) this
T expression between two functions, both of
which approach 1 as theta approaches 0.
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FIGURE 2.33 The figure for the proof of O = arc '&"“5 s

Theorem 7. By definition, T4/04 = tanf,
butd4 = 1,50 T4 = tan§.

Logsn® < OO < e ®

= Lo ®
¢ o ¢ txe = =9

P> .’L"‘ég'suse voel, )
Tale +oe Ll as ©—> DO

Lol e =2 s ) eesO
'oe:o -60::‘06 'g:;“

: Basc‘«ﬂt, SO 20 abodt as 7««‘9&9

as O—0-"

w22 Fnoxe (i)

e, a.v@'). K oxel
_ Rt j,:,_').x=9.@9.

X=

(. \ ,-‘V)

Aug 29-3:36 PM



120830-2-4-2-5.notebook August 30, 2012

oy #29 o4, 33

@ s (Bx) - 3 s (3x) ”"’_’_9 3., =

o = 3
Y x Y T 3x * v
2—.(&(3:!
4 3x 3 s (3 x)
3 Y%
@ x (i +¢og§)_. _
S\x dos x -
x>0 5 |- g—,= 2 f 2

/..2 (p’\-: Lo £ ,a:\j P p""f’“"[
/0‘;_ e A '0.:'“7 be¥+h 4%0?".

Aug 30-12:26 PM



120830-2-4-2-5.notebook August 30, 2012

o (l-cost) .
@f.:; ﬂ i ::j“\_‘_ E::—“ =

|- ces £ W =0 “

Let E‘ l-esg L-? Tleen,
N v =0, ""3”'?
=0

cmr 9: VW‘Aw
u- ‘“b“:"h"':“-

s (Fx) L 2, 5aBy) _ 35wGo_
“y 3 Ux  3x T
_ 3se@G_ 3, suBy
- 4.3 Y 3«

Aug 30-12:41 PM



120830-2-4-2-5.notebook August 30, 2012

IF P\ s et

T (5 4)

¢ —
- (1,»)

P 7s w"é , LCV=-2 and
FH=" Then Theu's ¢
neamhbes @ beteen x=2-2 F x=y
such +nad £RI=0.
TvT - Todkermed ufe Valns Theorovs
TP £60 75 conFuuous on [2,4] , and
FRNE -P(b\, 2t L be Mj MW‘MM
f= Q £CB). Thawm Theers o c € (3,b)
Sueh Hrat fcaH= L.

Gz, Pf“)

. £ bow Yo
N
TV Sﬂ-,s N_‘_.%_:'f <bee 0w o, fad)
Fad o, Vel BEE1 ;&1221
Yix-Sx +3 Vi (-3) '

)= o yy oy 2 226004124

¥ 2. 33BRITAST
‘p ¢ DI 221268

(D= w0l
Show #net 3 ¢ € (3,3) 3 flo-0,

ond £ 35 contiaous

.,...7,,.,1»«:,4:«# @ xe-w
G T VT S‘“ﬂ‘ Hure's ‘a 220 w Hawe [

Aug 30-12:46 PM



	Page 1
	Page 2
	Page 3
	Page 4

